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Answer either in English or in Assamese
1. Answer any ten from the following as
directed : 1x10=10
TS AT o[l R @ webR e Ted
fia -

fa) What is aggregate demand?
ST s 2

(b) Express effective demand in a four-
sector system.

o Ry “mafos ey oz e 1 |
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(2) el

(c) What is open economy? (i) less elastic

7o 9 5 2 TR
(iii) perfectly inelastic
(d) Mundell-Fleming model assumes that Sjeface sifRfeRee
capital is i
oo P T 2 T (Choose the correct option)
-Gz wif¥e
(= Resicor 1M Tferea)
(i) perfectly mobile
“I‘“’,[W*’l ok {g) th.) d;:elop:d the purchasing power
parity theoryr:
(ii) perfectly immobile
i T FAOR O] OGLO! (I TAS e ?
(ifi) imperfectly mobile e ~ (W Define asset market.
ST efRCel BeTe 251 TR e e i |
(Choose the correct option) ; ¢ () What is Capital Account in Balance of
(= s Ak Sfenean) Paymenty(BoR)e
TR TN JeigA f2orel 7
(e) What is the shape of long- illi .
: curve? i RS () At the point of effective demand
TRl RfF1eR @I WS e 0 Py DIfRA R
: (i) aggregate demand = aggregate
() The aggregate supply function at full supply
employment is AES SIfEA = A e
ool Fcl =S e @ T R (i) aggregate demand > aggregate
(i) more elastic supply
e Rfewrem AT BifEA > SANES e
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(&)

(i) aggregate demand < aggregate
supply
AR bRl < SR e
(iv) Both (i) and (i)
(i) S (i) T=F
(Choose the correct option)

(o o aifz Sferean)

(k) Supply inflation is caused by
QI PRI TR 27
(i) wage push
TERT @B
(i) mark-up pricing
-1 o7
(i) profit push
] (251
(iv) All of the above
S99 HGREN
(Choose the correct option)

A23/179

( Continued )

(S)

(] The natural rate of hypothesis involves

AT TRT SHIA TIPS TS
(i) adaptive expectation

Sfearers Ao
(i) rational expectation

A gremn
(iii) Both (i) and (ii)

(i) ST (i) TS

(Choose the correct option)

(¥ et aife Sferean)

(m) Write one measure to control cost-push
inflation.

TS JErRTS FRET FEE <61 T |

(n) Mention the I-S components of
Mundell-Fleming model.

Tod-@FRe wfET wee-RAEER SImEES

Ty 4 |
(o) Define arbitrage in international
payment.
e fes TmEe Siges R ol |
(p) What is international financial market?
wEEites e Iu[ 2
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(6) (7)

{g) Write one criticism of effective demand. (d) Write the reasons - f;,lr ' mversz
i i een inflation an
R e
(] The concept of foreign trade multiplier , W fReRR e RS TERER
was developed by L
e AR B YR SRS IR
() R. F. Khan (¢e) Mention two assumptions of Mundell-

Fleming model.

O Teea-griis wfEq o1 SfSyReT TrEs 9 |

(i) J. M. Keynes

(%, OF. (TR () Define effective demand.
(iii) Samuelson % e HifEs Stee il |
(g9 What are the determinants of
(Choose the correct option) § equilibrium rate of interest?
(= st AR Sferean) ST 74 TR FERIER & %2
2. Answer any five from the following : 2x5=10 (h) In what way expectation influences the
wore AT o[ & @i st g g - rate of exchange?
: FomiR & 43 eIfd® ¢4 ?
(@@ What is Eurocurrency market? B
RS TR F& 5 2 i) Mention two limitations of adaptive
expectation.
(b) Define natural rate of une 1
kN SRS oeE 701 SRmel Sead 341 |
e arefes 29w siew iy |
(¢) What is meant by mark-up inflation? () What is foreign trade multiplier?
-1 PP R e 0 PR e @ 2
3/179
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(9)

(8)
3. Answer any four from the following : 5x4=20 U :J;Tlhat ire the-preceamisieaeliiamenian
€ory’
were [RACaRR “/1 R @i wifkorE T fra :
: @ oG R & 2

fa) Explain briefly the monetary approach

to Balance of Payments (BoP). (g) What is aggregate supply? How does
aggregate supply curve determine in
M 9N (B
(BoP) urite ‘ﬁ_ﬁﬁ @ Keynesian economics?
SICF A I
AEEE @ B @ SdRifee AiEe
(b)) Write a note on Dornbusch’s Q@ @41 e Fidira s =2
overshooting model.

Explain the concept of demand-pull

I SWORERR RGN e @B B 1
IEEIA inflation.
~ Bif2m-qfaEfAe JUrRfed {EeCe! =0 91 |

(c) Distinguish between spot and forward
exchange rate.

= W FTEE [ 39w qee ey
@&l |

4. Answer any four from the following : 10x4=40
wers fRaCad [l R e wifee e fir

i i the
(d) Briefly explain th (a) What is rate of exchange? Explain
! gl R Rents o determination of equilibrium rate of

international financial market. - N
exchange.

Teifer [en quRe

el SR S Rfmg = 7 s R 2w fra A
91 29, 0 901

() How does
natural rate hypothesis () Explain critically the rational

explain the : .
unemployment-inflation expectation hypothesis.

relationship?
Gfes dOME SEEFC! DT 2RI

AFET 29 I
Wmﬁ?ﬁ?ﬁ?mﬁq; S ALY
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(c)

(d)

(e)

(9)

A23/179

(10 )

Explain the asset market approach to
determine exchange rate.

R 29 fdffe Rt s=m soms e

IR SIN

Establish the relationship between
foreign trade multiplier and marginal
propensity to import.

Qe AMER BT W e S
4TSN WE] ST=FCH! FIo 4 |

Discuss the Mundell-Fleming model in
terms of monetary fiscal mix policies
under fixed exchange rate with perfect
capital mobility.

T See e ofee R R 2w

Tua-GrfAed (e w1 wzste R e
IR <941 |
Discuss the determination of

equilibrium  level of employment
through effective demand.

ﬂmm&mwﬁm@mﬂmﬁmfwﬁm
fAdfiae 1 =8, e 4 |

Examine the police effectiveness of
Phillips curve.

o1 < e wrtfier R <oy |

( Continued )

(11 )

(h) Explain the purchasing power parity

(1)

theory of exchange rate.

R 79 T O Tl L] I 9 |

Explain the determinants of aggregate
demand.

s e R 0 4

Explain the factors that cause

d fluctuation in the exchange rates.
Rt T SETOR R T FRETR IR0
ESIN
* % %
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